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® Four number-pairs have been given, out of which three are alike in some

manner and one is different. Select the one that is different.

* IR G-I ST L, %l?lﬁﬁ?lﬁ:rfm"{ﬁ Hohuﬁ Teh S & 3 T 197 & 98 <
St an




* Select the option that 1s related to the third word in the same way as the second

word 1s related to the first word.

o 34 forohed T T L ST 19X ST O 3T Toh R Haferd & 99 RRURIES Ject Ilec O
Gaferd 2

* Kick : Football : : Backstroke : ? | @\ |
! / \ i

A. Weight lifting
\ % ’ B. Swimming

C. Cricket
D.Polo




* Select the option that represents the correct order of the given words as they
would appear in an English dictionary.

* 39 forshed ohT T i STT {3 1T S1sal o Tl shH T TTd I ecd shidl & S19 o ST
YTsashIvT | fe@rs 3|

® 1. Primary

A.4,3,5,2,1

® 3. Predator C.3,4,5,1,2

® 4. Precaution D.4,3,5,1,2

® 5. Preserve




* In the following question, select the related word pair from the given

alternatives.
o frfcTRaa war o fow o foercai o & Sifem wreg 7w st I
®* Army : Soldier: :?7:?

A.Troupe : Artist
B. Principal : School

C. Tyre : Car

D. Minister : Council




* In the following question, select the related number from the given alternatives.

o Taferfiigd g2/, fou v foenedi § O Heifera Gt st 994 &)
® 354 :351::478:7




* In the following question, select the related letter/letters from the given

alternatives.
o [HTTCTRET S5 H 14T T fofehcdl H © Heiferd S&TU&T ol MY
*PTY : DHM ::SQZ:? =\
g/

I




* In the following question, four number pairs are given. The number on left side
of (-) is related to the number on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation.
Select the odd one out from the given alternatives.

o (HTCTRET S5 § =R EedT I faq T 2] (-) o ST 371 hT €8T (-) oh arRit S/ hl
G § e b/ [HIH/HST o AT Heiferd 81 o= SHT Teh/[H/Ese 3 ST T

TH g Taq T forshedt § € o5 hi T[T
\‘\ A 3340
E B.31 38
/s C. 21-28
D. 23 - 28




* In the following question, select the odd letter/letters from the given

alternatives.

o fefeTiaad w1 4 fau 1 forshedi § © fom 31e/31erl sl Iy




* Arrange the given words in the sequence in which they occur 1n the dictionary.

o {aU U TeaT T IeahITT H 3TH T shH H I 0T i
® 1. Infect

® 2. Inferior

* 3. Indulge N /F A.52143

B. 12453
C. 54312
D. 14532

® 4. Induce

® 5. Indirect




* In the following question, select the missing number from the given series.

o fHfTRed w2 o, <1 778 SiEeTl | H AT Sl < i)

®23,28,34,41,49,?




* A series 1s given with one term missing. Select the correct alternative from the

given ones that will complete the series.

* Th TR foam TR & STEH Uek U oW @) 14U T forehedl § | o8 Hel foehed <Y 1
AT 1 I

* AFMG, CHOI, EJQK, GLSM, ? A HMVP

B.IOUH
C. MOUP
D.INUO




® Rahul is taller than Richa but not shorter than Mita. Mita and Mukesh are of
same height. Rahul 1s shorter than Raju. Amongst the students, who 1s the
second tallest?

* TEe =T | eI © ek Hidl § ©iel el 8| HidT 3N Heh3 THT el o ol U5,

TS § BT 81 BT H §, T Hodl Al b1 27

B. Rahul
C. Mukesh

D. Cannot be determined

o \\ A.Mita




* From the given alternatives, select the word which CANNOT be formed using

the letters of the given word.

* o TTY forehed T H § I8 I1eQ WY S f?‘:"QTrQSr_c{é? 3TITT hT TN Fleh T&] ST ST
b 2l

® Benevolent

A.Been
B. Nevin
C.Lent
D.Ben




® In a certain code language, “FLUTE” is written as “UOFGV”’. How 1s
“LAMPS” written in that code language?

* T 2 shig AT H, “FLUTE” =l “UOFGV” {eT@T SIIdT 8| 39 % |1 §
“LAMPS” ol foh®l TehIX feT@l SITQm?

A.ONKPT
B. OZNPS
C. OSNPZ
D.OZNKH
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In a certain code language, '+' represents '+', '-' represents 'x', '+' represents '+

and 'x' represents '-'. Find out the answer to the following question.

* Ueh {21 shlg WIS 4, '+ '+ %1 GRMIAT &, ' 'x' 1 ST &, '+ '+ % I & 3 'X
' opl e3TiaT gl FHferiad I a1 SO 31 hifsTu)

*6x20+5-20+4=7




* The following equation 1s incorrect. Which two signs should be interchanged to

correct the equation?

o FTTRad HHIRTOT T 2| THISRIOT shl Tl ohid o 1o
ST I1RE?

*16-2+-40+4x18=40




* [f1!9=20,9!5=28and 5!5 = 20, then find the value of 7!3 = ?
i 119 =20, 915 = 28 I 515 = 20, T 713 = ? T HF JTd hISY




* A cross-country race route starts and goes 2 km East, then there 1s a turn
towards North where the route goes on for 10 km, then there 1s a turn towards
East where the route goes on for 7 km, then there 1s a right turn from where the
route goes on 10 km to reach the end. What 1s the position of the end with

respect to that start?

* Teh ShIH-shol {8 & 3% BT @ ST 2 ferHl Tal shi ST ST &, Tt 3T ohl 3 He

& STET /T 10 forHt qeh STTT @, O I8 sl 3R 7Sl @ STai H1 7 fohdT deh ST &, T

Teh aTieA1 S ST @ STai © T ST @ 98] 8 HSoht 3 oo Ug= o (g 10 T,

WW%WﬁmﬁﬁQﬁW%? A 5 km East
B. 9 km West
C.5 km West
D.9 km East




* Statement I: All chains are ropes
* Statement II: Some links are chains
® Conclusion I: Some ropes are links

® Conclusion II: All links are ropes

A.Only conclusion I follows

B. Only conclusion II follows

C. Both conclusions I and II follow
D. Neither conclusion I nor

conclusion II follows




* A series 1s given with one term missing. Select the correct alternative from the

given ones that will complete the series.

* Th TR foam TR & STEH Uek U oW @) 14U T forehedl § | o8 Hel foehed <Y 1
AT 1 I

* HAT, MFY, RKD, WPI, ? A.YRK

B.AWO
C.AVM
D. BUN




* In the following question, select the missing number from the given series.

o fHfTRed w2 o, <1 778 SiEeTl | H AT Sl < i)

® 669, 660, 651, 642, 633, ?
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A word is represented by only one set of numbers as given in any one of the alternatives. The sets

of numbers given in the alternatives are represented by two classes of alphabets as shown in the given
two matrices. The columns and rows of Matrix{ are numbered from 0 to 4 and that of Matrixll are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column,
for example 'C' can be represented by 30,43 etcand 'S’ can be represented by 86, 97 etc. Similarly, you have to
dentify the set for the word VOLT',

U UG Haol U AR oAt g i g, o % et #® @ o o A
fear g1 Rwed # RU AU wem-wE R & & @ @ @i A S
f U v & gy # {1 Aegel & w R 9T o wew 0 @ 4 3R
Fregg-ll &1 5§ 9 | 3 e § U HEW A ol IH U W aE A T

A. 67,96,31,65
B. 20,89,14,59

WG AT XA S Wb &1 3eER0T & faw C @ 30, 43 e g@w @ o e C. 43,58,31,65
& YT ‘S’ F 86, 97 e GENT SR T THAT ¢l S AF § HA w3 A R0 e
VOLT & ot T & TEEe gl D. 30,57,30,68
Matrix | Matrix Il
HEGE - | HTEGE - I
0 1 o - O I S | 5 f [ 7 | 81 9
0 A F B | M 5 | V U X Q X
1 F ( 1 C g 0 T Vv Vv Q X
I 6] e R W[y [T X | W
3 C L £ J B Z S | N Z T
4 K A M C 3 N g | 8 X




